
  

ATELIER 1 
Correction Exercice 1 

 

 
 
a)   Schématisation :  
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 Le taux d’évolution est de – 0.3 ce qui correspond à une baisse de 30%. 
   

b) Schématisation :  
 
 
 
 
 
 
  𝑡 = 	 -.-	&'/0-	
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≈ 	−0.2522	à	10&.	𝑝𝑟è𝑠 

 
 Le taux d’évolution est de – 0.2522 à 10-4 près ce qui correspond à une baisse 
 d’environ 25,22%. 
 

c) Schématisation : 
 
 
 
 
 
 
  𝑡 = 	 ---	&'.--	
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≈ 	−0.3336	à	10&.	𝑝𝑟è𝑠 

 
 Le taux d’évolution est de – 0.3336 à 10-4 près ce qui correspond à une baisse 
 d’environ 33,36%. 
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